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7 M, max (m) chromatic value, D65
cs%omaticity (x,y)

Name and spectral range
m Ry 561_770 ¥, 520_770
Lm Gy, 475 573 G, 380 561
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A*o=(@g[ag a0,y 20 A Y1e(Y/Y19)1/3
* =(bo~[Do,i*bo,y b, al) Y1s(Y/ Y19 13

ag = ag [x/y]

bg = bao [2/4]

ay =1, byp=-0,4

A*,
: : i ,
n = D65 -40 40
Q625 a9 y=apy(Y/Y1g-1) 5
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CIE 1931 X Ostwaldcolours (0) Y\=88,6
max (m) chromatic value, D65 0
0,6 0,8 1,0 chroma (A*o, B*g)
CE371-1A_1 CE371-2A_1
Xy=84,19,Y,,=88,59,2,=96,46 B* o X,=84,19,Y,,~88,59,7,,=96,46 B* >
xy=0,3127y,,=0,3290 1/3—-40 X=0,3127y,,=0,3290 1/3—-40
A* 1:(31_[al.n+al.Y+al,A])Y18(Y/Y18)1 i A*=(ag—[a,ntap y*ap Al) Y1B(Y/V1s)1 i
B*1=(by~[by y+by vy a]) Y1e(Y/Y19) /3 * 5= (0 [0z, D2,y +02 ) Y1(Y/Y19) /3
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by = byo [z BSY 57 =bs0 [(Mpx+bp1)/Y]
A= 1, by = =0,4 ]yb/oo\T . ap0= 1, byp= -0,4 839 o "
mry=1,000bpy=0.171 , . AN mp=-0169bp0380  QEEOD—Y[ A%
n = D65 40 ' ' 40 n = D65 40 ' \ 40
3y, y=3v(Y/Y1g-1) 1 o 3y y=8oy(Y/Y1g71) §\- 20
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1) 19
ay=0,000,b,,=0,000 ay=0,000,b,y=0,000
a3 4=0,000,b; 4=0,000 a3 =0,000,b, 4=0,000
Ostwaldcolours (o) Y\y~88,6 ° Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D65 T/40 max (m) chromatic value, D65 T-40
chroma (A*4, B*;) chroma (A*,, B*,)
CE371-3A_1 CE371-4A_1
Xu=84,19Y,,=88,59.2,~9646 B*,, X.=84,19,Y,~88,59.2,-96.46 B* ,
¥w=0,3127y,,=0,3290 JaT40 %=0,3127y,=0,3290 e
A* 3=(~’=\3‘[aa.n+aa.Y+aa,A])Y1s(V/Yla)1 i A* 4=(ag~[a4,rtay,y+ay Al) Y1B(Y/V1s)1 i
*5=(D3=[s itb3,y+b3 D) Yas(Y/Y19) /3 * 4=(04~[04,+Da y s ) Y1e(Y/Y19) /3
ag = ay [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ay =1, by=-04 * a0=1,by=-04 B&9 57 *
Mp1=-0,974b,=0.658 . A% me=-0,160bp20389 PO A%
n = D65 40 ' ' 40 n = D65 40 ' ' 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) ! =0
b y=boy(Y/Y1g-1) by y=boy(Y/Y1g-1) 1
ay=0,000,b,y=0,000 ay=0,000,b,y=0,000
25,4=0,000,05,4=0,000 a4 4=0,000,b; 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (0) Y\=88,6 5
max (m) chromatic value, D65 max (m) chromatic value, D65 T-40
chroma (A*3, B*3) chroma (A*4, B*y)
CE371-5A_1 CE371-6A_1
Xu=84,19Y,,-88,59.2,-96.46 B*,, Xu=84,19,Y,~88,59.2,~96.46 B*,
¥=0,3127y,,=0,3290 JaT40 %=0,3127y,=0,3290 I
A* 5=(35‘[as.n+as.Y+as.A])Y1s(V/Y18)1 i A* 6=(as‘[ae,n+ae,v+ae,AJ)Y19(Y/V1a)1 5
5= (05[bs +Ds, v *+Ds l) Y1e(Y/Y19) /3 * 6= (06=[Dg, i+, v +bg Al) Y18(Y/Y19)
a=a5,{(0,86x-0,71y-0,026)4] 1 a6 = 00 [X] 1
be=by,[(0,19+0,38/-0,24)4] be=bao [(MoX+bp)]
age = 1,00, by = 1,00 889 37 A+ ap0= 1, byg= ~0,4 ey A
Ae.6.v,R=475,503,574,494c,E.n 5 Mp1=-0,974.0,=0.658 __, 958 : 6
n = D65 —40 ' 40 n = D65 —40 ' % 40
a5 y=ay(Y/Y1g-1) a5 y=aoy(Y/Y1g-1) 5
bs v =by(Y/Y1g-1) Bg,y=boy(Y/Y1g-1) |
agy=0,000,b,y=0,000 agy=0,000,b,y=0,000 i
a5 4=0,000,b5 4=0,000 ap x=0,000,05 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, D65 max (m) chromatic value, D65 T-40

chroma (A*s, B*5)

chroma (A*g, B*g)
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